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Talk Outline

I.  Is the metaphor of “path” useful for explanation and understanding?
i.  Causation as movement in space.
ii.  Movement on a path.
iii.  Affinities between paths and case-study research. 

II.  What happens over time on a path?
i.  Types of sequences (see page 2).

III.  What happens at the beginning of a path?
i.  Definition of contingency.

ii.  Contingency is what makes path dependence especially interesting.


IV.  How do paths end?
i.  Agency denied?

ii.  Agency defined.
iii.  Promoting agency?
#1) A => A => A => A

#2) 51% => 60% => 70%

#3)  A => A => A => A
#4) Stylized Example of a Layering:  80% Reproduction Rate
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#5) A => B => A => D => A => G => A

#6) A => B => A => B => A => B 

#7)  A => B => C => D => E
A nursery rhyme that is often used as an illustration of path dependence:

For want of a nail the shoe was lost.
For want of a shoe the horse was lost.
For want of a horse the rider was lost.
For want of a rider the battle was lost.
For want of a battle the kingdom was lost.
And all for the want of a horseshoe nail.
~nail =n=> shoe =n=> ~horse =n=> ~rider =n=> ~battle =n=> ~kingdom

Therefore:  ~nail =n=> ~kingdom

Therefore:  nail =s=> kingdom
(Note:  If X =n=> Y, then ~X =s=> ~Y; female =n=> pregnancy; male =s=> not pregnant)
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